kAR OEEMSHRENEHER(H28E 6 B 7, 8 BRITE) i <1o00-~JLk/B)

A E SR HAlE 3 . o AIERER
_ ,ﬂl [=—— =] :
(FrE i) Xz AEHAT (H2) (1 Su/h)
oy N 6878 | AEGRfE 000 0032
EER2—19—1 = Bcm 0.034
= = NEFEAE KT 5cm 0.042
JLET A E 6878 | AEdSME 200 0.039
JtET5—24—6 £ — ocm 0.034
DA T 04— LR 5cm 0.039
_ . 100 0.026
=+ Abh<H(AE | 6878 | ABERRAE o
=+A3—3—3 = 5cm 0.025
= = AERTE AR 5cm 0.042
k 100 0.045
CIZENE 6878 | BRI o
AZ=E2—8—14 = 5cm 0.042
; i i 100 0.043
KEDOM 6H88E | ABERHRMIA 5"”‘ e
Ay ZE1—32—1 & °m :
MADZBBBEAASE Som 0.048
. 100 0.035
=-F N 6H8H NEF R E 5:;: 0.037
— _ _ i -
EEHTZ" 10 4-7 =] Eg\i%/{ya—_ﬁ 5cm 0030
A 6R8E | AEMREE - oporooh
A%5—20—9 = 5cm 0.049
ERIRESDIEAH 5em 0.042
100cm 0.056
NE +3if
HET AN AE egsn | SETMRME 5om 0.063
mET3—26—13 B | B (H24/1/13 Ehk) 0.074
1B (H24/1/13 ), O°m 0.069

AITEHLSE  IBIEET#EE=4 HORIBA PA-1000 Radi GRIFE S DX 5 RIZE 10%)



X B OZERE M RERIEER (H28 £6 A 20, 21 HBITE) (#1490 -~ )LA/B)

A ST AlE R . o AIERER
- BIEGA (53)
(FFHEH) Xz AR (& (1 Sv/h)
. 100 0.030
- N 68208 | ABEhRME o
EER2—19—1 B 5cm 0.031
= R ML R 5cm 0.053
. 100 0.035
LETAE 68208 | AETRMSAE e
LEI5—24—6 i oom 0991
R 4SE AL P A A i 5cm 0.042
N . 100 0.027
Z+AHGHCAE | 68208 | AERMAE o
=+A3—3—3 B 5cm 0.023
= NERARF{Ha 5cm 0.031
. . 100 0.045
CIEENE 68208 | ABETHRMSE o
B=E2—8—14 B 5cm 0.048
= R HEAEEBELSTE | 5om 0.066
; . . 100 0.044
ERDiM 68 21 B| AEHRME o
B E1—32—1 M Som 0.049
s A R A QRO B S5cm 0.069
100cm 0.043
,:!z/\ /\ Y ‘ﬁ
240 E 6821 8| SEBRMIE Som 0.045
BxE4—10—-47 W EEEEA D Som 0.081
< 1 0.052
ASHMLNE 68 21 8| AEBRfE o0 >
A%5—20—9 5 5cm 0.054
A RUFERVFDHE 5cm 0.056
100cm 0.066
/\ y 'ﬁ
RETE A A AE 6g21 g | BETRME 5cm 0.074
HET3—26—13 [55] B tth (H24/1/13 EHE) 0.085
. 5cm
1BES#h (H24/1/13 EHE) 0.083

AITEHLSE  IBIE ST E=4 HORIBA PA-1000 Radi GRITE R DX ERIZE 10%)



